
Area Bounded by Polar Curves 
 

1. Area bounded by one loop of r ( )cos 2 t  
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2. Area bounded by r 4 ( )cos t  and r 4 ( )sin t    
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3. Area bounded by inside r 1 ( )sin t  and outside r ( )sin t   

 := A 
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4. Area outside r 2 ( )sin 2 t  and inside r 2   
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5. Area outside r 3 ( )cos 3 t  and inside r 3   

 := A 9 
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6. Area inside cardioid r 1 ( )sin t  and outside r 1   
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7. Area outside cardioid r 1 ( )sin t  and inside r 1   
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8. Area inside both cardioid r 1 ( )sin t  and r 1   
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9. Area inside both r ( )sin 2 t  and r ( )cos 2 t   
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